Temperatura
40
3
S 30 A
=2
©
=]
4@ 20 +
(]
o
£ 10
|_
O .
T T T T T T T
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb
Humedad
100 -
o 80
o]
=)
=2
ho} 60 T
©
©
(]
£ 40 -
=)
T
20 A
T T T T T T T
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb
Ozono
400 1 \
‘ - 30
2 300 - i ‘ ‘%
=} o
=2 - 20 o
2 200 1 ‘ S
S I | 8
© i l \ “ | " ’L - 10
100 1 W | ” | |
AT WV VY LAV
0 l T T T T T T T - O
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb
Monoxido Carbono
2 1500 1 A
>
= - 10
(@]
C
2 1000 A
S L 5
3
< 500 A
2
S -0
=
O .
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb
Dioxido Nitrogeno
300 A
g v
=) o
= o
o B 40 c
@ 200 C
> 3
o w ﬂ\ ‘ \ f s
) | I [ =
= q ‘w\ I | “\||‘ I I 1 "\ N | =
z ‘P'u W‘!‘! ’ﬁ.“ | }\ I y\ 20 g
2 100 : WYV ARG INY T X
X | M ,“ ll ’ ) o
o W M' ‘ o
[a) R
-0
T T T T T T T
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb
PM2.5 Count
100
§ 600 - -80 %
= <
£ \ \ 60 S
= (@]
o 400 A J (@]
UI | ﬁ I w F40 un
o WLt o
= \ 11 | 1“ =
a 200 { N F20 =
rov
-0

—— Nube —— Ref —— Ajuste

T T T T T T T
15:00 09:00 03:00 21:00 15:00 09:00 03:00
03-Feb 04-Feb 05-Feb 05-Feb 06-Feb 07-Feb 08-Feb

Estacion

30.0 A

27.5

25.0 A

22.5 A

Temperatura Ref

20.0 A

40
Temperatura Nube

100 -

Humedad Ref

Humedad Nube

30 +

20 A

Ozono Ref

10 A

o S .
DY e Cee &

T T T
200 300 400

Ozono Nube

T
100

1500

1000 A

500 A

Monoxido Carbono Ref

0_

250

750 1000 1250 1500 1750

Monoxido Carbono Nube

500

Dioxido Nitrogeno Ref
N w H (O}
o o o o
1 1 1 1

=
o
1

T T T T T
100 150 200 250 300

Dioxido Nitrogeno Nube

50

B (S,] )]
o o o
1 1 1

w
o
1

PM2.5 Count Ref

N
o
1

T T
400 600

PM2.5_Count Nube

T
200



